-~ 8

XYZ,=85.53,90.0, 98.0
A1=25C.(@-a Y
B1=2,5C, Bq (b~ by ) Y
ta)l = Zo {(EXC)/Y]

1 =020 (2
80=1,b0=-0,4 Gn
% = 0,1108, = 1,000

B1 Parame-|

100 ter: N
Y. D65 C =251
' Ahpg1=6

Rn

n = D65,xyy=0.312 , 0.329
Cag i=[AL+BAY?
Name and spectral range o
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470
B
6 optimal colours (0) Y,,y=90, Y\=3,6
6 of maximum (m) Cpg for D65

=100 max: 490_77(

XYZ,=85.53,90.0, 98.0 Parame-
Ay=25C.@-apY

B, =2,5C; B (b, -by ) Y
8y = ago [(X=x)/Y] 66
b, = byg [2M
80=1,b0=-04 52
¥ = 0,1108, = 0,750

n = D65,xy=0.312 , 0.329
Cag = [AL+BAY?

Name and spectral range 48
Rm 570_770 ¥, 520_770
Gm470_570 (G, 380_570
By 380 520 M, 570_470

100 ter: Y
D65, G = 25:1
Ahpg =6

23

6 optimal colours (0) Y,,=90, Y\=3,6

6 of maximum (m) C,g for D65 [-100 max: 490_774

V L o Y M
http://farbe.li.tu-berlin.de/eetb/ect6lOnp.pdf /.psonly vector graphic VG; start output
see separate images of this pager://farbe.li.tu-berlin.de/eet6/eet6.htm

XYZy=90.0,90.0, 90.0
A1=25C. (@ -a )Y

By =25C, B (by - by ) Y
g = agg [(x=xo)/Y]

by = byg [zM
ay=1,b,g=-0,4 G
X¢=0,110,8, = 1,000

B1 Parame-|

100 ter: N
EOO, C =25:1
Ym Ahpg 1 =6

n = E00,xyy,=0.333, 0.333
Cag i=[AL+BAY?

Name and spectral rangec,
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470 By

6 optimal colours (0) Y;,y=90, Y\=3,6
6 of maximum (m) Cpg for EOO

[-100 max: 495_77(

XYZy=90.0,90.0, 90.0
Ay=25C.@-apY

B2 = 2,5C, Bq (b~ by Y
3 = g0 [(XX)Y]

by = by [251

a0 = 1,byy= -0,4 51
¥o = 0,108, = 0,900

Parame-
100 ter: Y
EOQ, G = 25:1
65 Aha2 = 6

n = E0O,xy=0.333 , 0.333
Cag 2= [AL+BAY?

Name and spectral range 48
Rm 570_770 ¥, 520_770
Gm 470_570 G, 380_570
Bm 380_520 M, 570_470 24

6 optimal colours (0) Y,,,=90, Y\=3,6
6 of maximum (m) C,g for EOO

[-100 max: 495_77(

R 570_770 ¥, 520_770
G 470_570 G, 380_570
Bm 380_520 M, 570_470 B

6 optimal colours (0) Yy 1790, Y,

, N.10~
6 of maximum (m) C,g for D50 31'6‘100 max: 490_77(

in chromatc value diagram(A,, By) min: 380_490 in chromatic value diagram (A,, B,) min: 380_490
eet60-1n eet60-2n

XYZ,=86.78 ,90.0 , 74.24 B1 Para’\r‘ne- XYZ,=86.78 ,90.0 , 74.24 By Para\;ne-
A1=25C (@ -3 Y T 100 ter: N A;=2,5C;@—ay) Y T 100 terr Y
B3~ 2.5, (b1 b1 ¥ P0.C =253 |G Z5C b by b v 50,6, = 251
ay =g [(x-xJh] Y a = a0 [(x-xJh] g8 Bz

by =byo [z by = by [2/M]

ayo=1,byp=-0,4 G Rn ay0=1,byp=-0,4 41

Xc = 0,110,B = 1,000 A1 X =0,110,B = 1,000 Ao

n = D50,xy,y=0.345 , 0.358 } n = D50,xyy=0.345, 0.358 }
Cag 1=A+BAY? 100 Cag = [AS+BAM? 100
Name and spectral range G Mm Name and spectral range48 39

Rin 570_770 ¥, 520_770
Gy 470_570 G, 380_570
Bm 380 520 M, 570_470 21

6 optimal colours (0) Yy 10=90, Yy 15=
6 of maximum (m) C,g for D50 ~100 max: 490_77(

in chromatc value diagram(A,, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
eet6l-1n eet61-2n

XYZ,=88.26 , 90.0 , 106.4 B1 Parame- XYZ,,=88.26 , 90.0 , 106.4 By Parame-
A;=25Cc@-a )Y Tz00 o0 ter: ’;5_1 Ay=25C@-ay) Y T 100 0 ter: \215_1
By =2,5C;B; (by~by ) Y n AhAg?;G ' By =25C:Bc (b ~by ) Y ghAé?;e ’
ag =g [(x-X)Y] 8y = a0 [(X-X)Y] 64 ’

by =byo [z G by = by [2/M]

a0= 1,byo = ~0,4 R a30= 1,byo = ~0,4 52 "

Xc = 0,110,8, = 1,000 A1 X = 0,110 = 0,700 Ao

n = C00,xyy=0.31, 0.316 } n = CO00,xyy=0.31, 0.316 }
Cag 1=[A+BAY? 100 Cap 2=[A+BAY2 100
Name and spectral range Name and spectral range 48 37

Rm 570_770 ¥, 520_770Cmi M Rm 570_770 ¥, 520_770

Gm 470_570 G, 380_570
B 380 520 M, 570_470

By
6 optimal colours (0) Y,,y=90, Y\=3,6
6 of maximum (m) Cyg for CO0

[-100 max: 495_77(

Gm 470_570 G, 380_570 A
Bm 380_520 M, 570_470

6 optimal colours (0) Y,,=90, Y\=3,6
6 of maximum (m) Cpg for CO0

[-100 max: 495_77(

Rm 570_770 ¥, 520_770
Gm470_570 G, 380_570
Bm 380 520 M, 570_470

6 optimal colours (0) Y,=90, Y\=3,6 L
6 of maximum (m) Cyg for P40

WL 'SI99/P UG- 130 Y/ :d1R1IaS BJ0UM BU) JO Sal} Je|iWiS 89S

=100 max: 495_77(

in chromatc value diagram (A, By) min: 380_490 in chromatic value diagram (A,, B,) min: 380_490
eet60-3n eet60-4n

XYZ,,=90.83, 90.0, 58.22 By Para’\rlne- XYZ,,=90.83, 90.0, 58.22 ParaYme-
A;=25Cc @ -a )Y T 100 ter: N A2=25C. @ -2y Y T100 er ¥
By =2,5C, B, (by —by ) Y Zﬁgﬁ?;és'l By=25C;Bc (b —by ) Y Z;‘f;;;ezs'l
ag = ag [(x-x] ‘ ay = a0 [(x-x))] 68 T

by =byo [z by = by [2/M]

0= 1,by=-04 80=1,by=-04 49 42
Xc=0,110B,=1,000 Gn X.=0,110B, = 1,300 Ao

n = P40,xy,y=0.379 , 0.376 n = P40,xy\y=0.379 , 0.376 +
Ca1=IAL+BAM? Cap,27[AF+B A2 100
Name and spectral range™™ N 40

Name and spectral range47
Ry 570_770 Y, 520_770
Gm 470 _570 G, 380_570
Bm 380_520 M, 570_470 21

6 optimal colours (0) Y,,=90, Y\=3,6 |

6 of maximum (m) C,g for P40 [-100 max: 495_77(

in chromatc value diagram (A, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
eet61-3n eet61-4n

XYZ,,=91.86,90.0, 72.95 By Parame- XYZ,=91.86,90.0, 72.95 Parame-
A1=25Cc (@ -ay )Y T100 ter: N A=25C @ -ay) Y T100 ter Y
By =25CcBc(by~by ) Y Zﬁfﬁ?:’és'l B2=25CcBc (b ~byn) Y Zﬁggcz':_ezs'l
a1 = a0 [(x-X)Y] Ym ' 8y = a0 [(XX)Y] 67 '

by =byg [z by = by [2/M]

a0= 1,by0= —0,4 a0= 1,byp= 0,4 42

%= 0,1108,=1,000 Cm x,=0,1108,= 1,000 Ay

n = P00,xy,y=0.36 , 0.353 n = P00,xy\y=0.36 , 0.353 +
Ca1=IAL+BAM? Cap27[AF+B A2 100

Rm 570_770 ¥, 520_770
Gm470_570 G, 380_570
Bm380_520 M,570_470  Bm

6 optimal colours (0) Y,=90, Y\=3,6 |

[-100 max: 500_77(

6 of maximum (m) C,g for POO

Name and spectral range47
Rm 570_770 ¥, 520_770
Gm 470570 G, 380_570
Bm 380 520 M, 570_470

22

6 optimal colours (0) Y,=90, Y\=3,6
6 of maximum (m) C,g for POO

[-100 max: 500_77(

8p"UI1HB0-NY'11'10(00//:dNY 0 Bp°U11I8g-NY 130 /e //:dNuuoTewIoul [ea1uyos)

Gm470_570 G, 380_570
Bm 380520 M, 570_470

6 optimal colours (0) Y;y=90, Y\=3,6 1
6 of maximum (m) Cpg for AOO
in chromatc value diagram (A, By)

=100 max: 495_77(
min: 380_495

in chromatc value diagram(A;, By) min: 380_495 in chromatic value diagram (A,, B,) min: 380_495
eet60-5n eet60-6n

XYZ,=98.86 , 89.99 , 32.02 B1 Parame- XYZ,=98.86 , 89.99 , 32.02 By Parame-
A1=2,5C (@ —a,) Y T 100 700 ter: ’;‘5_1 A;=2,5C;(@—ay,) Y w0, o ter: \2(5'1
B1=2,5C, Bq (by~by ) Y AhA'B?:_e : B2 = 2,5C, Bq (b~ b)Y n AhA*BCj;G :
ag = ag [(x=xo)/y] ' 2y = ago [(X=x)/Y] ’

by = by [2)] T b = byo [2/4]

ay0= 1,byo= -0,4 Yo ay0= 1,byo= -0,4

X = 0,1108, = 1,000 Ry A1 X.=0,110B.=2500 46

n = A00, xyy=0.447 , 0. 4 n = A0O, xy\y=0.447 , 0.407 | ——=dl

Cpp1=[A+B 2 Gl m 100 Cp 2=[AF+BA 2

Name and spectral range Name and spectral ranggs

Ry 570_770 ¥, 520_770 B Rm 570_770 ¥, 520_770

Gm 470_570 G, 380_570
B 380_520 M, 570_470

6 optimal colours (0) Y,,,=90, Y\=3,6
6 of maximum (m) C,g for AOO
in chromatic value diagram (A,, B,)

=100 max: 495_77(
min: 380_495

in chromatc value diagram(A;, By) min: 380_500 in chromatic value diagram (A,, B,) min: 380_500
eet61-5n eet61-6n

XYZz,,=88.13, 90.0, 107.05 By Parame-| XYZz,,=88.13, 90.0, 107.05 Parame-|
A1=2,5C (@ —a) Y 190 ter: N - A;=2,5C;(@—ay,) Y T 100 ter Y
By = 2.5C; B by ~ by ) ¥ AT B, = 25C; B (b by Y B o725
a1 = a0 [(xX)Y] ' 8y = ago [(X=x)/Y] 66 ’

by = o [2] Gnn by =bao [z

ay=1,byy=-0,4 Rn ay=1,bp=-04 52 41

X = 0,1108, = 1,000 Ay X¢= 0,110, = 0,700 Ao

n = Q00,xyy=0.309 , 0.315 + n = Q00,xyy=0.309 , 0.315 +
Cag i=[AL+BAY? 100 Cag = [AF+BAY? 100
Name and spectral range Name and spectral range 48 37

R 570_770 ¥, 520_770% M Rm 570_770 ¥, 520_770

Gm470_570 G, 380_570
Bm 380520 M, 570_470

6 optimal colours (0) Y,,=90, YN:3‘,3€1
6 of maximum (m) Cpg for Q00
in chromatc value diagram (A, By)

eet60-7n

eet60-8n

=100 max: 505_77(
min: 380_505

G 470_570 G, 380_570
Bm 380 520 M, 570_470 23

6 optimal colours (0) Y,,=90, Y\=3,6
6 of maximum (m) Cg for Q00
in chromatic value diagram (A,, B,)

[-100 max: 505_77(
min: 380_505

eet61l-7n

eet61-8n

TUB-test chart eet6; TUB-Relativity model of colour vision, chromatic valu€sbtfaldcolours

for adaptation to 8 illuminants: D65, D50, P40, A0OO, EOO, C00, P00, @Q96R5:1, dhaxgx=6, Y\w=9
] M Y [0) L \Y
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